SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23187

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

MADISON AND YANCEY

TIP NO .:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.
RWR FORESTRY

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

182 BASKIN HILLS RD LEXINGTON SC29072

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number:

D13POC.RE.23187

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.105735, 13RE.105715, 13RE.205715, 13RE.205725, 13RE.110015,

13RE.210015, 13RE.210025

Description:

Long Arm Mowing Upon Request

County:

Madison and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit	Amount
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	26	SMI	Price 325	Bid 8450
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	54	SMI	325	17,550
3	SP	Long Arm Mowing - Undivided Primary Routes	357	SMI	300	107,100
4	SP	Long Arm Mowing - Secondary Routes	552	SMI	300	165,600

IOTAL,	BID F	OR	PROJEC	T: \$298,	700
					1000

Contractor: RWR FORESTRY

Address: 182 BASKIN HILLS RD LEXINGTON SC 29072

Phone: 803-546-6032 Federal Id: 83-4583047

Contractor's License Number: N/A

Authorized Agent: JAMES-SANDERSON Title: PRESIDENT

Signatur (: Date: 5/26/25

REQUIRED: List all equipment intended for use on this project and return with the bid

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23187

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

MADISON AND YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number: D13POC.RE.23187

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

Signature: 540

13RE.105735, 13RE.105715, 13RE.205715, 13RE.205725, 13RE.110015,

13RE.210015, 13RE.210025

Description:

Long Arm Mowing Upon Request

County:

Madison and Yancey

TOTAL BID FOR PROJECT: 309,557.00

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	26	SMI	313.00	
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	54	SMI	313.00	16.902.00
3	SP	Long Arm Mowing - Undivided Primary Routes	357	SMI	313.00	111,741.00
4	SP	Long Arm Mowing - Secondary Routes	552	SMI	313.00	172,776.

Contractor: Vegetation Management Specialist, INC.
Address: 3250 Union Cross Church Rd. Vadkinville NC 27055
Phone: 330-901-2747 Federal Id: 27-1440022
Contractor's License Number:
Authorized Agent: EVAN Anderson Title: Dresident

REQUIRED: List all equipment intended for use on this project and return with the bid package.

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23187

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

MADISON AND YANCEY

TIP NO .:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

LOVIN EQUIPMENT & Sales, Inc.

756 Sweetwater Road, Robbinsville, NC 28771

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

D13POC.RE.23187

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.105735, 13RE.105715, 13RE.205715, 13RE.205725, 13RE.110015,

13RE.210015, 13RE.210025

Description:

Long Arm Mowing Upon Request

TOTAL BID FOR PROJECT: \$ 317,625,00

County:

Madison and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	26	SMI	450,00	11,100,00
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	54	SMI	450,00	24,300,00
3	SP	Long Arm Mowing - Undivided Primary Routes	357	SMI	325,00	116,025,0
4	SP	Long Arm Mowing - Secondary Routes	552	SMI	300,00	165,600,00

Contractor: Lovin Equipment and Sales, 1	<u> 16</u> .
Address: 156 Sweetwater Rd. Robbinsville.	NC 28171
Phone: <u>828.479.4988</u> Federal Id: <u>06</u>	-1676329
Contractor's License Number: N/A	
Authorized Agent: Brandon K. Lovin	Title: Vice President
Signature: B.K. Line	Date: 06/03/2025

REQUIRED: List all equipment intended for use on this project and return with the bid package.

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23187

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

MADISON AND YANCEY

TIP NO .:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

914 East Buttalo Ed Robbinsville.

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

D13POC.RE.23187

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.105735, 13RE.105715, 13RE.205715, 13RE.205725, 13RE.110015,

13RE.210015, 13RE.210025

Description:

Long Arm Mowing Upon Request

County:

Madison and Yancey

TOTAL BID FOR PROJECT: \$325,090.00

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	26	SMI	\$500.0	\$13,000.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	54	SMI	\$480.w	\$25,920.w
3	SP	Long Arm Mowing - Undivided Primary Routes	357	SMI	\$330.00	\$117,8100
4	SP	Long Arm Mowing - Secondary Routes	552	SMI		\$168,360.w

1.1			
Contractor: MUFLO CONTRACTI	ng Inc		
Address: 914 Tast Ruffalo Ld	Robbisville,	K	78711
Phone: 828-735-0861	Federal Id:	88-4	4307833
Contractor's License Number:	1		
Authorized Agent: Scyler Mulle			Title: Project manga en
Signature:			Title: Project manage =

REQUIRED: List all equipment intended for use on this project and return with the bid package.

SMALL BUSINESS ENTERPRISE ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JUNE 4, 2025 AT 2:00 PM

CONTRACT ID: D13POC.RE.23187

WBS ELEMENT NO.: 13RE.101215, 13RE.101235, 13RE.201215, 13RE.201225

FEDERAL AID NO.: STATE FUNDED

COUNTY:

MADISON AND YANCEY

TIP NO .:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

UNDER THE PROVISIONS OF THIS PROGRAM, A N.C. GENERAL CONTRACTOR'S LICENSE IS NOT REQUIRED AND CONTRACT PAYMENT AND CONTRACT PERFORMANCE BONDS IS NOT REQUIRED. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS, INCLUDING BUT NOT LIMITED TO, THOSE REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

RANGER Rd. MURPHY, NC 28906

ONTRACTING

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number:

D13POC.RE.23187

TIP Number:

N/A

FA Number:

State Funded

WBS Element:

13RE.105735, 13RE.105715, 13RE.205715, 13RE.205725, 13RE.110015,

13RE.210015, 13RE.210025

Description:

Long Arm Mowing Upon Request

County:

Madison and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Impact Attenuator (TMIA) - Interstate Routes	26	SMI	500.00	13,000.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator (TMIA)- Divided Primary Routes	54	CNAL		27,000.00
3	SP	Long Arm Mowing - Undivided Primary Routes	357	SMI		142,800.00
4	SP	Long Arm Mowing - Secondary Routes	552	SMI		212,520.00

TOTAL BID FOR PROJECT: # 395,320. °°

Contractor: MATHEW (HASE MCK	AE DBA:	MATT MCRI	AE CONTRACTINE

Address: 1535 RANGER Rd MURPHY, NC 28906

Phone: <u>828 361 7135</u> Federal Id: <u>55# 243-89-0474</u>
Contractor's License Number: <u>VENDOR</u> # 5300

Authorized Agent: MATTHEW CHASE, MCRAE Title: OWN

REQUIRED: List all equipment intended for use on this project and return with the bid package.